DIFFERENTI_AL EQUATIONS
(MATH 242.01)
TEST #3 — Nov. 22, 2002
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Directions: Answer all questions in the space provided. You 3 (9 pts)
can also use the back of the facing opposite page if 6 (9 pts)
you need more room. You must show intermediate 7 (9 pts)
work for partial credit. Integral tables are allowed. 8 (9 pts)
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1. Use variation of parameters to find a particular solution for the differential equation

Y — 4y = 2€*. ;
.
Yo ()= = J(5) f%%{-‘mdi ka,.&\ f%\—,—}% Lyt Sw—?\ug \6\&\:31:‘
' 2t 52
| Uba;(fh- e 3 - 2. Therebore WG = feuiéu =4
' -2t ‘

» ‘61’&_7'8 -f-—_—;—zc i t € %

- L) fen 0D fefu

- At St
l 2 _ L &

- - -— 3‘t
= 2¢€ "we =T e

S|P

2. Use the definition of the Laplace transform to compute L[f](s) where
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Compute the Laplace transform of each of the following:
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6. f(t):= { 3; +5, g : i Z io by using the uni‘lc step (Heaviside) function. |
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Compute the inverse Laplace transform of each of the following:
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Solve each of the following equations for y(t):
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